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€2 - [ A] Select correct alternative and rewrite the sentence (Any (%)

[. Variable cost per unit
2) varies when output varies
i) remain constant
¢) increases when output increases
d) decreases when output decreases
<. Ax example of fixed cost is:
2j Materiala consumed
) Depreciation:
c) Wages paid
d) Packing material
;. A functional classification of costs would classify depreciation on office equipment” a3 8
1) Product cost
6, Administrative expense
c) Selling expense
&y Yariable cost
L Centinous stock taking isap
1) Annual stock taking
i) Perpectual inventory O :

o) ABC analysis

4) Mene of the above

ster=iceseper should initiate a purchase r@i ion when siock reaches
2y Minimurn level f

by Mazimum level @

¢y Re- Order level 0

&) Average level ‘/0

4 Wages sheet is pepared by

~

z) time- sleeping department
i personnel department
¢} payroll department

i) cost accounting department
7. Charging o a cost centre those overheads that result solelv from the existence of that cost

-
it os

wEatee is known as
zjy Allocation
By Apportionment
&) Absorption
4y allotment ) . ,
B Wik of the following methods of wage payment is most suitable where quality and accurac)

of wraric is of primary importance.?
" i p

#j Ficce rate system

by Time rate system

i .
e :
Bl 3 s s
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Calculate tor each depa ment
I. Reorder Jeu el
2. Minimum level
i Maximum ley el
4. Average les el

h“:’{z'f;:-':"‘;]t'lr\:‘:lll‘\‘:,-]:1“mg nrormation caiculate § comr™s LA Quarity and number af or ‘-‘r.. 9
Annual consumption of “daterial - 57 e

Cost of Matenal - Rs 3 per unit = umls

Cost ol placing an order Rs. 18

Annual carrying cost of ne unit - 109 of Ve e

O W i .
OR

Q2 The following particul rs have been extractes » resoect & matoral X -

Prepare a Stores Ledger ac ount show ng the rece o< 3
. are e 1S &'
basis of 1) WElgh“—.’d Avera 7e Method and 2! £1E0
3 T & L

Receipts:

~

') the materialy issued on the

2015
September 1 Opening Stock
3 Purcha« *d
13 Purcha ed
23 Purcha ed
Issues .
2015
September 5 Issue ! &
15  Issued .
25 Issue d

Q 3 (A) Standard produ-tion ¢
if work executed below standard:
standard 120% of general! rate: production in

Mr. Anand : 600 units. Compute total remuneration payasi

ander Taylor plan.

(B) Calculate earning of » orkers A and B und
Differential Piece Rate sy stem from the following partcia:

807 of general ratd, Wag.

Normal Rate per Hour - 1's. 3.60
Standard time per hour — +0 seconds

Differentials to be appliec are:
80% of the piece rate below the standard.
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vaze rate Rs. 6 per hour, wage rate
11e on execution of work equal 1o

by Mr. Prakash : 730 units anc by

» Mr. Prakash and Mr. Anand
(C%)
e rate system and Tavlor's
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L Depreciation 14001
- Supervision 56000
Clsiranee 128010
Ly g 1800
Ih

i P ki nlm.\

Scanned by CamScanner

¢ follow| e clata f nl 0 vailible i

| Dept, A~

4

in rupe.cl of the five dep

artments:

IULEI B "E_L:p_t; j& ! Dept. D D;ﬁjt:



»

RN —
o JAM-‘.»J,-....‘. 7 AT LT g
o B A TRy SRS 5 T
— “~ l‘,‘“ ‘u‘
T kL D

N

140 ~50 110 90 A0
25 20 10 10 5
' Tolal wages 200000 160000 100000 100000 40000
‘ . Value of Plant ' 400000 360000 320000 200000 120000
_alue of Stock ) 300000 200000 | 100000 | o000 |

us departments on the most suits able basis.

T

; Area
' No of workers

quculalu ¢ the costs to the varit
Q-5A] Classify the followirg expenses (O8)
i] On the basis of I'rac zability of cost

1. Cotton in tc <tile industry

 Waiter in hotel

[S9]

. Rent of Building

L

4. Wages pail to Mechanig'in Garage
ii] On the basis of Fi nctions of cost

1. Show roon rent

2. Printing ad stationery

3. power an fuel

4. Advertisement
B] Explain the caw: €5 of labour turnover (07)

OR

Q-5 Write Short Notes (A 1Y 3) (15)

Stock levels

Classificatiol
ctions of time keeping depa

yof coston basis of behaviour

Fun rtment
Overheads
Functions of stores department

R S

W
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